2011 BHCSI Introduction to Java 

Test #1 Solutions
7/15/11

(Note: Assume that java.util.* is imported for all programs.)

1) (9 pts) What do each of the following expressions evaluate to in Java? (Hint: remember to think about the difference between integer and real division.)


a) 12 - 5 =    _7__

d) 6 * 8 = __48__
g) 47% 6 =    _5____


b) 19 + 23 = __42_

e) 27/6 =  __4___
h) 19%118 =  _19___


c) 24 / 6 =     __4__

f) 13/5.0 = __2.6
i)  43/86 =       __0___

Grading: 1 point each

2) (12 pts) What do each of the following expressions evaluate to in Java? (Hint: Make sure to follow order of operations?)

a) 1 + 3 * 5 – 7 = ___9____

b) 5/4 + 19%4 = ____4_____

c) 16 - 2*(5 + 9/4) = ___2_____


d) 18.0/12 - 4*(11%(2+4)) = _____-18.5__

        Grading: 3 points each, no partial credit


3) (5 pts) Write a single println statement that produces the following output:

This summer camp rocks!

Well at least “I” think so.

System.out.println(“This summer camp rocks!\nWell at least \”I\” think so.”);

Grading: 1 pt println, 1 pt ( ),1 pt outside quotes, 1 pt \n, 1 pt \”
4) (6 pts) Write  a single Java statements necessary to read in a integer from the keyboard into the variable value. You may assume that a Scanner object named input is already declared to read from the keyboard and that value has been declared as well.  

value = input.nextInt();__________________________________________

5) (8 pts) What do each of the following boolean expressions evaluate to in Java? (Hint: All answers will be either true or false.)


a) (7-2) == (20%4) _false______ 
c) 3*(11%7) > 11  __true____


b) !((4 * 5) >= 20)__false__

d) 23 <= (11% 21 *2)
 ___false____

Grading: 2 pts for each part

6) (14 pts) It takes 2 cups of pasta sauce to make a medium pizza.  A medium pizza has 8 slices and can feed 4 hungry 3rd graders.  Complete the program below so that it prompts a soccer mum for the number of cups of pasta sauce that she has in her kitchen and prints out the number of slices of pizza that she can make and how many hungry 3rd graders that she can feed. Assume that she can only have an integral number of cups of pasta sauce and she always makes an integral number of pizzas.

public class BakePizza

{

  final int cupsPerPizza = 2;

  public static void main(String[] args)

  {


Scanner input = new Scanner(System.in);


int cupsSauce;


int num3Graders;

System.out.println("How many cups of pasta sauce do       
                    you have?");


cupsSauce = input.nextInt(); // 3 pts
     numSlices  = cupsSauce/cupsPerPizza*8; // 4 pts  

     num3Graders =  cupSauce/cupsPerPizza*4; // 4 pts   


System.out.println("With “ + cupsSauce +“cups of                                             pasta sauce, you can make “ + numSlices + “slices of pizza, to feed “ + num3Graders + “ hungry 3rd graders.”); // 1 pt each
  }

}

7) (6 pts) What is the output produced by the following segment of code?

int num1,num2,num3;

num1 = 3;

num2 = 7;

num3 = 4;

if (2*num1 == num3)

  System.out.print("1");

else if (num3%num2 <= (num1 – num2))

  System.out.print("2");

else

  System.out.print("3");

System.out.println(“123”);

3123

Grading: 1 pt for not printing 1, 1 pt for not printing 2, 2 pts for printing 3, 2 pts for printing 123 after that.
8) (12 pts) What is the output of the following segment of code?

int value = 3, mystery = 27;

while (value < mystery) 

{

  value = value * 2 ;

  mystery = mystery - 1;

  System.out.println("Value = "+value);            
  System.out.println("Mystery = "+mystery);  

}

Value = 6

Mystery = 26

Value = 12

Mystery = 25

Value = 24

Mystery = 24
Grading: 2 pts each
9) (12 pts) Write a segment of code that will print out the following sequence of numbers, with one number per line:

2, 5, 8, 11, … , 1000001.

Declare any variables you need.

int x = 2;


// 2 pts
while(x<=1000001){

// 3 pts
     println(x);

// 3 pts
     x = x+3;


// 3 pts
} 




// brackets – 1 pt
10)  (12 pts) Write a segment of code that prompts the user to enter in a number and continues to do so until the user enters 27.

int num1 = 0;






// 1 pt
Scanner input = new Scanner(System.in);      // 3 pts
while(27 != num1) {                          // 3 pts
     System.out.println(“Enter an integer: “); // 2 pts
     num1 = input.nextInt();                 // 3 pts
} 

11) (4 pts) Millican Hall is named after what former UCF President? (Please answer with the last name only.)

Millican (give to everyone)
